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NO. = B BIE B AR gniRE | UpRE | B, | FoEiEE
(mSv/h) (mSv/h) (Ba/em?) | (Ba/em®)

1 8/30 158 BTFREE AMmAl(RET—4—2407) 4.0E+1

2 7/30 15# WEAFEVN] BRETELITUT 1.2E-1 <1.73E+0

3 7/19 25 BRFIFEE AIE 8.0E-1 <1.0E+0 | >2.76E+2

4 7/19 25 RFIFEERE AIE <1.15E-1 31

5 8/27 25 BRFIFEE RIE 3.0E-1 <1.0E+0 1.65E+2

6 8/27 25 RFIFEERE AIE <1.15E-1 31

7 9/5 28 RTFERE §I=E 5.0E-1 <1.0E+0 1.79E+2

8 9/5 25 RFIFEERE AIE <1.15E-1 %1

9 9/2 PFEAIE RS 2.5E-1

10 8/23 354 R/B 5FL 5.0E-1 3.36E+1

11 9/10 3% Rw/B SFPR>ZFxU7 6.0E-1 1.06E+2

12 9/4 354 T/B 1FL HTR= 1.8E+0 1.15E+2

13 9/6 458 T/B 1FL 6.0E-1 3.04E+1

14 9/5 B KL AL IR 2R i gEY 5.0E-1 5.0E+0 5.26E+2

15 8/23 15#% BFIFEE JtlEv—F 4.0E-1 2.0E+0 <5.4E-1

16 8/23 154 EFFERE v <1.1E-1 %1

17 8/26 15H# BEFFEREE mEY—R ERORYN 5.5E-1 8.0E+0 2.3E+2 3.3E-4
18 8/26 15# BRFFEE div—K ERoAys <T.1E-1 31 [<35E-6 X1
19 8/27 15 BTFIFEE JtlEv—F 1.5E-1 <1.0E+0 2.3E+1 3.3E-4
20 8/27 154 EFFERE v <T.1E-1 31 [<35E-6 X1
21 8/5 B e EERTT 1.11E-3

22 9/2 B R EEZETT 1.11E-3

23 9/9 B R EEZET)T 1.03E-3

24 9/18 B R EEZETT 1.07E-3

25 8/1 3= T/B 1FL <9.3E-2 X1 [<1.1E-6 X1
26 8/1 3= T/B 1FL <9.3E-2 X1

27 8/2 354 T/B 1FL 1.5E+1 1.0E+2

28 8/2 3= T/B 1FL <9.3E-2 X1 [<1.1E-6 X1
29 8/2 3EH# T/B 1FL <9.3E-2 X1

30 8/5 354 T/B 1FL 5.0E+0 1.4E+2

31 8/5 354 T/B 1FL <9.3E-2 %1 |<1.1E-6 X1
32 8/5 354 T/B 1FL <9.3E-2 X1

33 8/6 3E# T/B 1FL <9.3E-2 X1

34 8/6 3EH# T/B 1FL <9.3E-2 X1

35 8/7 354 T/B 1FL <9.3E-2 %1 |<1.1E-6 X1
36 8/7 354 T/B 1FL 1.0E+2

37 8/7 35 T/B 1FL <9.3E-2 X1

38 8/23 3. 45 S/B 1FL 4.0E-1 40E-1 4.7E+1 <2.7E-5
39 8/23 3. 454 S/B MBIFL 1.0E+1 1.0E+1 1.0E+2 <2.7E-5
40 8/5 TetémEE  1FL2FL 1.38E-1

41 8/5 JoO+EXAEEE mflv—Fk 1.3E-2

42 8/5 FREERD  KURIONIRE 7.0E-1 7.0E-1

43 8/5 BIRGEERER Py NTNTRA <4.9E-1

44 8/5 F_IRRE R 5.0E-1 5.0E-1

45 8/5 SPTEE-SRENEERMY—F #HKkF1 v 1.5E-1 1.6E-1

46 8/5 A—EBry—)LREE Ll 6.0E-4 <4.9E-1

47 8/5 —BRE F—HEHR £KkHA <4.6E-1

48 8/5 —BRE FUER SXHA <4.6E-1

49 8/6 TetémiEE  1FL2FL 1.37E-1

50 8/6 JOEXAEEE mflv—F 1.3E-2
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51 8/6 ERBENER  1FL 1.3E+1 8.0E-1 8.3E-1 47E-5
52 8/6 SEENEE BAVv—F 1.3E-2 1.8E-2
53 8/7 TEHMEE  1FL2FL 1.35E-1
54 8/7 JOotREREE mflv—~K 1.3E-2
55 8/7 ERBENER 1FL 2.2E+0 1.2E+0
56 8/7 —FRE TR SKHA <4.6E-1
57 8/7 —BRE FEBEE S£KHN <4.6E-1
58 8/8 THEEWERE 1FL2FL 1.32E-1
59 8/8 TOEREEE mflv—R 1.3E-2
60 8/9 THEEWMERE 1FL2FL 1.35E-1
61 8/9 TOEREEE mflv—Fk 1.3E-2
62 8/9 TetEE 1FL KURONIRZERET ) 7 1.4E+0 1.4E+0
63 8/9 TYEMMER 1FL KURONRBET Y 7 1.4E+1
64 8/9 —KRE TR SKHA <4.6E-1
65 8/9 —BRE FHEBESE S£KHN <4.6E-1
66 8/7 35 T/B 1FL <9.3E-2 X1
67 9/4 ERENFRE BN 4.0E-2 40E-2 850 2
68 9/1 25 BR BsmEEs (AD 4.0E-2 1.2E-1 [85700 2
69 9/1 258 ARl HEREES (OMAD 47E-2 5.5E-2
70 8/26 BRENFEE BN 1.5E-1 1.6E-1 | 3450 2
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